
A-1
THE DRAWINGS, SPECIFICATIONS AND OTHER DOCUMENTS
GENERATED SHALL REMAIN THE PROPERTY OF GARY J.
ALEXANDER, ARCHITECT AND MAY NOT BE USED, DUPLICATED,
OR ALTERED, WITHOUT WRITTEN CONSENT OF THE ARCHITECT.

COPYRIGHT 2024

Gary J. Alexander,
Architect

1265 Neil Avenue, Columbus, Ohio 43201
(614) 487-0637

ADDITIONS TO
THE BUNDY RESIDENCE

2075 FAIR AVENUE

SITE PLAN
SCALE: 1" = 20'-0"

ZONING IDENTIFICATION - R-3, MEDIUM DENSITY RESIDENTIAL

PARCEL ID: - 020-003388-00
LOT AREA - 86,146 SQ. FT.

EXISTING BUILDING COVER - 5,238 SQ. FT. 6% OF LOT AREA 
PERMITTED BUILDING COVER - 21,537 SQ. FT. 25% OF LOT AREA
PROPOSED BUILDING COVER - 5,624 SQ. FT. 6% OF LOT AREA

EXISTING OVERALL COVER - 14,507 SQ. FT. 17% OF LOT AREA
PERMITTED OVERALL COVER - 43,073 SQ. FT. 50% OF LOT AREA
PROPOSED OVERALL COVER - 14,949 SQ. FT. 17% OF LOT AREA

PROPOSED ACCESSORY STRUCTURE -      280 SQ. FT.

EXISTING
RESIDENCE

316.41

180.75

24
3.

09

371.75

EXISTING

W
IRE FENCE

30
'-0

" S
ID

E 
SE

TB
AC

K

30
'-0

" F
RONT SETBACK

PLA
TTED SETBACK

SEE PLA
T

12'-0" SIDE

SETBACK

40'-0" REAR SETBACK

EXISTING

WIRE FENCE

85
.2

'

40.9'

EXISTING
DRIVE

SHED
ADDITION

ADDITION

1'-0"

6'-7 1/2"

EXISTING
MOTOR
COURT

ENCROACHMENTS

FAIR AVENUE

PARK DRIVE

EXIST'G FENCE
TO BE REPLACED

EXISTING

NEW
 FENCE

EXIST'G FENCE TO

BE REPLACED

NEW FENCE

N
EW

 F
EN

C
E

NEW FENCE

NOT FOR CONSTRUCTION
PRELIMINARY

B
A-1

A
A-1

2'
-1

0"
2'

-2
"

PARK DRIVE
NEW
FENCE

SITE SECTION
SCALE: 1/8" = 1'-0"

B

3'
-4

"
1'

-8
"

PARK DRIVE
NEW
FENCE

SITE SECTION
SCALE: 1/8" = 1'-0"

A

ARCH. REVIEW: 10-15-2024

mklingler
Highlight
ENCROACHMENTS

mklingler
Highlight
6'-7 1/2"



A-2
THE DRAWINGS, SPECIFICATIONS AND OTHER DOCUMENTS
GENERATED SHALL REMAIN THE PROPERTY OF GARY J.
ALEXANDER, ARCHITECT AND MAY NOT BE USED, DUPLICATED,
OR ALTERED, WITHOUT WRITTEN CONSENT OF THE ARCHITECT.

COPYRIGHT 2024

Gary J. Alexander,
Architect

1265 Neil Avenue, Columbus, Ohio 43201
(614) 487-0637

ADDITIONS TO
THE BUNDY RESIDENCE

2075 FAIR AVENUE

FOUNDATION PLAN

2'
-4

5
8"

1'-113
8"5'-05

8"

73
8"

95
8"95

8"

DIMENSION FROM
WINDOW JAMB ABOVE

3'
-0

"
3'

-0
"

95
8"

EXPANDED
OPENING ABOVECL

SLAB ON GRADE

DIMENSIONS
FROM WALL
ABOVE

2

2

3'
-4

"
3'

-4
"

6

3

5

4
EXISTING
FOUNDATION
ASSUMED

1

3

7 8

9

35
8"

1"

75
8"

1

1 1

1

2

G.C. SHORE EXISTING
CONSTRUCTION AS
REQUIRED PRIOR TO
DEMOLITION

3
3

FIRST FLOOR DEMOLITION PLAN
SCALE: 1/4" = 1'-0"

FIRST FLOOR DEMOLITION PLAN NOTES

1. WALL TO BE REMOVED
2. DOOR TO BE REMOVED
3. EXISTING AIR CONDITIONING UNITS TO BE RELOCATED

SCALE: 1/4" = 1'-0"

FOUNDATION PLAN NOTES

1. BOTTOM OF NEW FOOTING TO ALIGN WITH EXISTING. G.C.
TO VERIFY THAT EXISTING FOOTING IS AT LEAST 3'-0"
BELOW GRADE

2. 1'-4" DIAMETER CONCRETE PIER. EXTEND A MINIMUM OF
3'-0" BELOW GRADE

3. TOP COURSE OF FOUNDATION WALL TO BE 6X8X16 CMU
4. IF EXISTING SLAB IS REMOVED AND INSULATION IS

PROVIDED BENEATH THE ENTIRE MUDROOM FLOOR, DO
NOT INSTALL THIS PERIMETER INSULATION

5. 2" RIGID INSULATION TO EXTEND TO TOP OF FOOTING
6. TURN OUT BLOCK TO SUPPORT NEW CONCRETE SLAB AT

DOOR
7. CONCRETE PAD
8. CONCRETE SLAB BENEATH SHED
9. RETAINING WALL

NOT FOR CONSTRUCTION
PRELIMINARY

ARCH. REVIEW: 10-15-2024



A-3
THE DRAWINGS, SPECIFICATIONS AND OTHER DOCUMENTS
GENERATED SHALL REMAIN THE PROPERTY OF GARY J.
ALEXANDER, ARCHITECT AND MAY NOT BE USED, DUPLICATED,
OR ALTERED, WITHOUT WRITTEN CONSENT OF THE ARCHITECT.

COPYRIGHT 2024

Gary J. Alexander,
Architect

1265 Neil Avenue, Columbus, Ohio 43201
(614) 487-0637

ADDITIONS TO
THE BUNDY RESIDENCE

2075 FAIR AVENUE

FIRST FLOOR PLAN
SCALE: 1/4" = 1'-0"

35
8"

13
8"

6"

8"

2'-0"5'-0"

EQ
EQ

EX
IS

T'
G

3"
31

2"

2'
-1

"
11

2"

UP

DN

31
2"

11
2"

2'
-4

"

11"

35
8"

13
8"

6"

MUDROOM
CER. TILE

MECHANICAL

KITCHEN

PRE-ENGINEERED
STORAGE SHED

(BY OTHERS)
3'

-0
"

3'
-0

"

3"

GARAGE

3'
-1

" R
.O

.
EQ

EQ

3" 5'-2" R.O. 3"

EXIST'G JAMB

11
2"

(2) - 26 X68 
1'

-9
"

2

1

1

3080

4

13

5 6

14'-0"

4'
-0

"

6'-0"

7

3" 3"

8

STOOP
BLUESTONE

ROOF PLAN
SCALE: 1/4" = 1'-0"

1

2

2

34

3 4

3

5

6

FIRST FLOOR PLAN NOTES

1. 1 1/2" METAL FURRING OVER EXISTING MASONRY WALL
2. LOCKERS
3. ROD AND SHELF
4. WINDSOR, FRENCH INSWING CLAD PATIO DOOR. 1/2 LITE

PANEL WITH BRICK MOLD
5. TUSCAN COLUMN, 10" BASE DIAMETER, HB&G PERMACAST

COLUMN WITH TUSCAN CAPITAL, BASE AND NECK MOLDING
6. TUSCAN 1/2 COLUMN, 10" BASE DIAMETER, HB&G

PERMACAST COLUMN WITH TUSCAN CAPITAL, BASE AND
NECK MOLDING

7. CONCRETE PAD
8. SHELVES. G.C. TO CONSULT OWNERS REGARDING

NUMBER AND SPACING

ROOF PLAN NOTES

1. STANDING SEAM COPPER ROOF
2. VENTED CAP FLASHING, COPPER, BY ROOF

FABRICATOR
3. PAINTED 1/2 ROUND GUTTER
4. PAINTED ROUND DOWNSPOUT, MATCH EXISTING
5. IF GUTTER WILL CONFLICT WITH SHUTTER, HOLD

GUTTER OFF WALL AND INSTALL RAIN WATER
DIVERTER ON ROOF

6. RAIN WATER DIVERTER OF COPPER

NOT FOR CONSTRUCTION
PRELIMINARY

ARCH. REVIEW: 10-15-2024



A-4
THE DRAWINGS, SPECIFICATIONS AND OTHER DOCUMENTS
GENERATED SHALL REMAIN THE PROPERTY OF GARY J.
ALEXANDER, ARCHITECT AND MAY NOT BE USED, DUPLICATED,
OR ALTERED, WITHOUT WRITTEN CONSENT OF THE ARCHITECT.

COPYRIGHT 2024

Gary J. Alexander,
Architect

1265 Neil Avenue, Columbus, Ohio 43201
(614) 487-0637

ADDITIONS TO
THE BUNDY RESIDENCE

2075 FAIR AVENUE

SIDE (EAST) ELEVATION
SCALE: 1/4" = 1'-0"

8'
-4

"

93
4"

31
2"

5
4

6

10

8
7

9

3
2
1 12

6

3
A-6

12
2

EXIST'G FINISHED
FLOOR ELEVATION

4

12

10

2
A-6

1 A-
6

7 A-
6

5
A-6

REAR (SOUTH) ELEVATION
SCALE: 1/4" = 1'-0"

4

1

10

11

12

13

14

15

6

7

7 A-
6

FRONT (NORTH) ELEVATION
SCALE: 1/4" = 1'-0"

ELEVATION NOTES

- ALL EXTERIOR TRIM TO BE WOOD OR BORAL, TRU EXTERIOR
POLY ASH. IF WOOD TRIM IS USED, TRIM TO BE REDWOOD OR
SMOOTH FINISH CEDAR. ALL SURFACES OF TRIM TO BE PRIMED
PRIOR TO INSTALLATION. SAW CUTS AND NAIL HOLES TO BE
PRIMED.

- ALL GUTTERS AND DOWNSPOUTS TO CONNECT
UNDERGROUND TO DRAIN TILE AND DRAIN TILE TO BE ROUTED
TO CURB AT STREET OR DAYLIGHT. IF EXISTING DRAIN TILE ARE
TO BE USED, CONTRACTOR TO VERIFY THAT EXISTING DRAIN
TILE ARE OPERATING PROPERLY PRIOR TO CONNECTING NEW
DOWNSPOUTS

1. STANDING SEAM COPPER ROOF
2. COPPER SIDE WALL FLASHING
3. EXISTING EXHAUST HOOD HOUSING TO REMAIN
4. VENTED CAP FLASHING, COPPER, BY ROOFING 

FABRICATOR
5. PAINTED 1/2 ROUND GUTTER
6. PAINTED ROUND DOWNSPOUT, MATCH EXISTING
7. DOWNSPOUT BOOT
8. BRICK TO MATCH
9. BRICK MOLD BY DOOR MANUFACTURER
10. TUSCAN COLUMN, 10" BASE DIAMETER, HB&G PERMACAST

COLUMN WITH TUSCAN CAPITAL, BASE AND NECK 
MOLDING

11. 2X4 CAP, SLOPED TO DRAIN
12. 1X4 TRIM
13. HARDI PANEL, SMOOTH FINISH
14. PANEL MOLDING, HOLMES LUMBER HL71005, 1/2" X 3/4"
15. TUSCAN 1/2 COLUMN, 10" BASE DIAMETER, HB&G 

PERMACAST COLUMN WITH TUSCAN CAPITAL, BASE AND 
NECK MOLDING

16. RAKE BY SHED MANUFACTURER
17. 5/4 X 6 TRIM
18. FIBER CEMENT SHAKES
19. 5/4 X 8 TRIM
20. 5/4 X 10 POLY-ASH TRIM
21. FASCIA BY SHED MANUFACTURER
22. ROOF BY SHED MANUFACTURER

NOT FOR CONSTRUCTION
PRELIMINARY

ARCH. REVIEW: 10-15-2024



SHED ELEVATIONS
SCALE: 1/4" = 1'-0"

9'
-0

"

13
'-6

3
4"

22

21

13

14

17

FRONT (WEST)

SIDE (SOUTH)

EXIST'G
DRIVEWAY
ELEVATION

SLAB
ELEVATION

REAR (EAST)

A-5
THE DRAWINGS, SPECIFICATIONS AND OTHER DOCUMENTS
GENERATED SHALL REMAIN THE PROPERTY OF GARY J.
ALEXANDER, ARCHITECT AND MAY NOT BE USED, DUPLICATED,
OR ALTERED, WITHOUT WRITTEN CONSENT OF THE ARCHITECT.

COPYRIGHT 2024

Gary J. Alexander,
Architect

1265 Neil Avenue, Columbus, Ohio 43201
(614) 487-0637

ADDITIONS TO
THE BUNDY RESIDENCE

2075 FAIR AVENUE

9'
-0

"

16
17
18

13
17
14

20
EXIST'G

DRIVEWAY
ELEVATION

19

SIDE (NORTH)

NOT FOR CONSTRUCTION
PRELIMINARY

ELEVATION NOTES

- ALL EXTERIOR TRIM TO BE WOOD OR BORAL, TRU EXTERIOR
POLY ASH. IF WOOD TRIM IS USED, TRIM TO BE REDWOOD OR
SMOOTH FINISH CEDAR. ALL SURFACES OF TRIM TO BE PRIMED
PRIOR TO INSTALLATION. SAW CUTS AND NAIL HOLES TO BE
PRIMED.

- ALL GUTTERS AND DOWNSPOUTS TO CONNECT
UNDERGROUND TO DRAIN TILE AND DRAIN TILE TO BE ROUTED
TO CURB AT STREET OR DAYLIGHT. IF EXISTING DRAIN TILE ARE
TO BE USED, CONTRACTOR TO VERIFY THAT EXISTING DRAIN
TILE ARE OPERATING PROPERLY PRIOR TO CONNECTING NEW
DOWNSPOUTS

1. STANDING SEAM COPPER ROOF
2. COPPER SIDE WALL FLASHING
3. EXISTING EXHAUST HOOD HOUSING TO REMAIN
4. VENTED CAP FLASHING, COPPER, BY ROOFING 

FABRICATOR
5. PAINTED 1/2 ROUND GUTTER
6. PAINTED ROUND DOWNSPOUT, MATCH EXISTING
7. DOWNSPOUT BOOT
8. BRICK TO MATCH
9. BRICK MOLD BY DOOR MANUFACTURER
10. TUSCAN COLUMN, 10" BASE DIAMETER, HB&G PERMACAST

COLUMN WITH TUSCAN CAPITAL, BASE AND NECK 
MOLDING

11. 2X4 CAP, SLOPED TO DRAIN
12. 1X4 TRIM
13. HARDI PANEL, SMOOTH FINISH
14. PANEL MOLDING, HOLMES LUMBER HL71005, 1/2" X 3/4"
15. TUSCAN 1/2 COLUMN, 10" BASE DIAMETER, HB&G 

PERMACAST COLUMN WITH TUSCAN CAPITAL, BASE AND 
NECK MOLDING

16. RAKE BY SHED MANUFACTURER
17. 5/4 X 6 TRIM
18. FIBER CEMENT SHAKES
19. 5/4 X 8 TRIM
20. 5/4 X 10 POLY-ASH TRIM
21. FASCIA BY SHED MANUFACTURER
22. ROOF BY SHED MANUFACTURER

ARCH. REVIEW: 10-15-2024



A-6
THE DRAWINGS, SPECIFICATIONS AND OTHER DOCUMENTS
GENERATED SHALL REMAIN THE PROPERTY OF GARY J.
ALEXANDER, ARCHITECT AND MAY NOT BE USED, DUPLICATED,
OR ALTERED, WITHOUT WRITTEN CONSENT OF THE ARCHITECT.

COPYRIGHT 2024

Gary J. Alexander,
Architect

1265 Neil Avenue, Columbus, Ohio 43201
(614) 487-0637

ADDITIONS TO
THE BUNDY RESIDENCE

2075 FAIR AVENUE

3"

1 2"

31
2"

1
2"

4" 4"

12

6

8"

EQ EQ

93
4"

31
2"

C L
C

O
LU

M
N

6"

4"31
2"

12

6

EQ EQ

31
2"

93
4"

4"31
2"

6"

3"

4" 4"

31
2"

93
4"

31
2"

1
2"

EQ EQ

SECTION
STOOP ROOF
SCALE: 3/4" = 1'-0"

DETAIL
PARTIAL GABLE ELEVATION
SCALE: 3/4" = 1'-0"

SECTION
GABLE
SCALE: 3/4" = 1'-0"

GRADE

55
8"

5
8"

35
8"

3'
-0

" B
EL

O
W

 G
R

AD
E 

M
IN

. 95
8"

3
8"
6"

3
4" EXIST'G FINISHED

FLOOR ELEVATION

8'
-4

"
93

4"
31

2"

M
AT

C
H

 E
XI

ST
IN

G
 C

EI
LI

N
G

 H
EI

G
H

T 
(8

'-7
5

8"
±)

PL
AT

E 
H

EI
G

H
T

12
2

1"

35
8"

13
8"

6"

WALL SECTION
SCALE: 3/4" = 1'-0"

4A-6

MATERIALS LIST

1. STANDING SEAM COPPER ROOF
2. 30# ROOFING FELTS
3. ICE AND WATER GUARD UNDERLAYMENT OVER ENTIRE

SURFACE OF ROOF OF 2:12 PITCH
4. 5/8" ROOF SHEATHING
5. DRIP EDGE COMPATIBLE WITH COPPER ROOF
6. 6" 1/2 ROUND GUTTER, PAINTED TO MATCH EXISTING
7. 1X4 FASCIA
8. 1X WOOD TRIM
9. CROWN, HOLMES LUMBER HL317513, 3/4" X 1 3/4"
10. PANEL MOLDING, HOLMES LUMBER HL71388, 3/4" X 1 3/8"
11. BLOCKING AS REQUIRED
12. BRICK TO MATCH EXISTING
13. ADJUSTABLE WALL TIE
14. AIR SPACE
15. WATER RESISTANT, BREATHABLE, AIR BARRIER, TYVEK

HOMEWRAP OR EQUAL
16. 1/2" WALL SHEATHING
17. 2X6 STUDS @ 16" O.C.
18. R-21 FIBERGLASS BATT INSULATION WITH VAPOR RETARDER
19. 1/2" GYPSUM WALLBOARD (WALLS)
20. 2X6 TREATED WOOD PLATE
21. 1/2" DIAMETER ANCHOR BOLT, 1'-6" LONG, EMBEDDED AT

LEAST 1'-3" DEEP, 6'-0" O.C. AND NOT MORE THAN 1'-0" FROM
ANY CORNER

22. 6X8X16 CMU TERMITE BLOCK
23. RIGID INSULATION, 3/4" WIDTH
24. CERAMIC TILE
25. SETTING BED
26. 4" CONCRETE SLAB WITH 6X6 W1.4XW1.4 WWF
27. VAPOR BARRIER, 6 MIL POLY
28. 2" RIGID INSULATION
29. GRAVEL, 4"
30. 10X8X16 CMU
31. 18" X 10" CONCRETE FOOTING WITH 3 #5 REINFORCING BARS
32. WALL FLASHING
33. WEEP HOLE
34. GROUT SOLID
35. CROWN, HOLMES LUMBER HL3325, 3/4" X 3 1/4"
36. PANEL MOLDING, HOLMES LUMBER HL71005, 1/2" X 3/4"
37. HARDI PANEL, SMOOTH FINISH
38. PAINTED METAL FLASHING OVER 1X WASH
39. 10" BASE DIAMETER TUSCAN COLUMN WITH TUSCAN

CAPITAL, BASE AND NECK MOLDING, HB&G PERMACAST
COLUMN

40. 3/4" TRIM BAND, ALIGN WITH WASH AT FRONT GABLE
41. 2" CONTINUOUS SOFFIT VENT
42. BEADBOARD
43. MITER CROWN AT CORNER
44. 1X4 TRIM
45. 1X6 TRIM
46. 2X4 CAP, SLOPED TO DRAIN
47. 1X TRIM TO CAP OPEN END OF PANEL
48. 1X BLOCKING

1

2

3

4

5

7

9

10

6

8

11

12

13
14
15
16
17

18

19

20
21
22

23

24
25
26

27
28
29

30

31

32
33

34

1

2

3

411

5

35

40

9

10

8

39

41 42 8 8

910

39

8
36
37

38

35
43

35

8

36
37 38

8

9
10
8

39

9
10

3 42

1

33
8"

2"

3
4" 31

2"

EQ

31
2"

EQ 2"

3
4"31

2"

CL COLUMN

3'
-0

"

2"
51

2"
31

2"

27
8"

3
4"

5
16"

3
4"

31
2"

3
4"

48

37

48

46

44

36

37
5

A-6

7 A-
6

36

47

45

47 44 47

48

ELEVATION
KNEE WALL
SCALE: 3/4" = 1'-0"

6 SECTION
KNEE WALL
SCALE: 3/4" = 1'-0"

7

SECTION
KNEE WALL
SCALE: 3/4" = 1'-0"

5
NOT FOR CONSTRUCTION

PRELIMINARY

37

2'
-2

"

1"
±

3'
-0

" M
IN

.

GRADE @
DRIVEWAY

DETAIL
SHED RETAINING WALL
SCALE: 3/4" = 1'-0"

8

ARCH. REVIEW: 10-15-2024



FIRST FLOOR LIGHTING/REFLECTED CEILING PLAN NOTES

1. COORDINATE HEIGHT OF OUTLET WITH CABINETRY
DESIGN

S-1/E-1
THE DRAWINGS, SPECIFICATIONS AND OTHER DOCUMENTS
GENERATED SHALL REMAIN THE PROPERTY OF GARY J.
ALEXANDER, ARCHITECT AND MAY NOT BE USED, DUPLICATED,
OR ALTERED, WITHOUT WRITTEN CONSENT OF THE ARCHITECT.

COPYRIGHT 2024

Gary J. Alexander,
Architect

1265 Neil Avenue, Columbus, Ohio 43201
(614) 487-0637

ADDITIONS TO
THE BUNDY RESIDENCE

2075 FAIR AVENUE

ROOF FRAMING PLAN
SCALE: 1/4" = 1'-0"

FIRST FLOOR LIGHTING/REFLECTED CEILING PLAN

WP

1'
-4

"

D
O

O
R

C L

DOORCL

3DIMS

S

3

S

1

1

ARCH. REVIEW: 10-15-2024

NOT FOR CONSTRUCTION
PRELIMINARY

SCALE: 1/4" = 1'-0"

NOTE: DIMENSIONS LOCATING LIGHT FIXTURES ARE FOR GENERAL LAYOUT.
MODIFICATIONS MAY BE REQUIRED DEPENDING ON FRAMING CONDITIONS





















21"

60"

5234"

312"

58"

334" TYPICAL

9634" ±12" 1

2

3

4

812"

AMERISTARR

1555 N. Mingo
Tulsa, OK  74116
1-888-333-3422
www.ameristarfence.com

TITLE:

DATE:

DRN BY: CHK BY:

DRAWING NO:

SCALE:

REV:

SHEET:02/05/09

NJB

Do Not Scale

MONTAGE PANEL GENESIS 3R EXT 5'T  8'W 

RGX358

1/3

b

This drawing is the proprietary
property of AMERISTAR,
Tulsa, OK and must not be
duplicated or used
 in whole or in part for the
making of drawings, prints or
parts to the detriment of, or
harmto, the owner.
 In accepting this drawing, the
recipient agrees to keep the
information contained
confidential.

PROPRIETARY
INFORMATION

CI5
8" SQ x 18 ga. PICKET

15
16" x 11

4" x 14 ga. RIBBED CHANNEL RAIL

2" SQ  POST

DESCRIPTION

1

#

2

3

2

3

21

QTY.

4 BRACKETS6

konnorg
Snapshot

konnorg
Text Box
36"



TO PLACE YOUR ORDER CALL 888-333-3422  |  VISIT AMERISTARPERIMETER.COM

RESIDENTIAL ORNAMENTAL STEEL FENCE

5/8"sq x 18ga PICKETS | .9375" x 1.25" x 14ga RAILS | 2"sq x 16ga POSTS

PROFUSION WELDED STEEL

All Montage fence panels are fabricated using Ameristar’s ProFusion welding process. This 
technique combines laser and fusion technology to create a virtually invisible structural connection 
at every picket-to-rail intersection. Unlike typical aluminum fence systems that are held together 
with unsightly screws, the ProFusion weld used with Montage promotes a “good neighbor” profile 
with sleek lines and no exposed picket-to-rail fasteners. When compared to aluminum fencing, 
Montage’s welded steel construction is unmatched in strength and durability.

E-COAT ™PROTECTIVE FINISH

Montage galvanized steel framework is subjected to a multi-stage pre-treatment/wash (with zinc 
phosphate), followed by a duplex cathodic electrocoat system consisting of an epoxy primer, which 
significantly increases corrosion protection, and an acrylic topcoat, which provides the protection necessary 
to withstand adverse weathering effects. This process results in years of maintenance-free ownership.  

LIFETIME LIMITED WARRANTY

The Montage families of fencing products are manufactured from superior quality materials 
by skilled craftsmen with the highest standards of workmanship in the industry. Ameristar is 
confident in offering Montage with a Lifetime Warranty, backed by an American company with 
over 30 years of demonstrated excellence in manufacturing ornamental fence products.

DOMESTIC MANUFACTURING

Ameristar is committed to providing products that are manufactured in the USA. We have made 
significant investments in technology, process improvement, and employee training in an effort 
to secure American jobs and combat inferior import products. 

Also available in Pool, Pet & Play (3" air spacing) – styles vary 

STYLE OPTIONS

CLASSIC™ MAJESTIC™ GENESIS ™ CRESCENT ™

Each picket is precisely welded at each 
rail intersection providing all-terrain 
flexibility and aesthetics.

konnorg
Rectangle

konnorg
Rectangle

konnorg
Rectangle



DESCRIPTION ITEM NUMBER BAG QTY BOX QTY WEIGHT

Universal Boulevard Bracket B 102TR 2 48 bags .37 lbs

Bags packaged with: (2 Ea.) #B102TR Montage Universal Boulevard Bracket  |  (2 Ea.) #1-0089-1 1/4"-20 x 1-1/4"L hex head trilobe 
410SS  |  (2 Ea.) #HX539 #10 x .75" stainless steel tek screws

Line Bracket B 104TR 2 60 bags .68 lbs

Bags packaged with: (2 Ea.) #B104ATR Montage Line Brackwith with emboss  |  (2 Ea.) #B104BTR Montage Line Bracket  |  4 Ea.) #1-0089-1 
1/4"-20 x 1-14"L hex head trilobe 410 stainless steel  |  (2 Ea.) #HX539 #10 x .75" stainless steel tek screws

Use as a Boulevard Bracket around a 2" post to join two adjacent fence panels in-line.

Swivel Bracket B 106TR 2 60 bags .39 lbs

Bags packaged with: (2 Ea.) #B106ATR Montage Swivel Bracket Montage with emboss | (2 Ea.) #B106BTR Montage Swivel Bracket Cup with 
emboss | (2 Ea.) #HX541 1/4"-20 flange nut 18-8 stainless steel | (2 Ea.) #2-0068 1/4"-20 x 2-1/2" carriage bolt 18-8 | (2 Ea.) #1-0089-1 
1/4"-20 x 1-1/4"L hex head trilobe 410 stainless steel | (2 Ea.) #HX524 #14 x 3/4" Tek Screw

Use for oblique angle intersections.

Flat Mount Bracket B 105TR 2 96 bags .25 lbs

Bags packaged with: (2 Ea.) #B105TR Montage Flat Mount Bracket   |  (2 Ea.) #1-0089-1 1/4"-20 x 1-14"L hex head trilobe 410 stainless 
steel  |  (2 Ea.) #HX524 #14 x .75" tek screws

Use to attach fence panels to walls, wood posts, etc.

MONTAGE ® | QUIKFIT BRACKETS
AVAILABLE IN BAG QUANTITIES ONLY

 = COLOR OPTIONS AVAILABLE  |  B = Black    

DESCRIPTION ITEM NUMBER BAG QTY BOX QTY WEIGHT

Universal Boulevard Bracket B 102R 2 48 bags .20 lbs

Bags packaged with: (2 Ea.) #B102R-B Universal Boulevard Brackets | (2 Ea.) #HB539 #10 x .75" stainless steel tek screws | (2 Ea.) #HB511 
.25" x 1.5" stainless steel carriage bolts | (2 Ea.) #HB541 .25"-20 flange nuts 18-8

Line Bracket B 104R 2 60 bags .47 lbs

Bags packaged with: (4 Ea.) #B104R-B Line Brackets | (2 Ea.) #HB539 #10 x .75" stainless steel tek screws | (4 Ea.) #HB511 .25" x 1.5" 
stainless steel carriage bolts | (4 Ea.) #HB541 .25"-20 flange nuts 18-8

Use as a Boulevard Bracket around a 2" post to join two adjacent fence panels in-line.

Swivel Bracket B 106 2 60 bags .20 lbs

Bags packaged with: (2 Ea.) #B106-B Adjustable Aluminum Wall Mount Doghouse | (2 Ea.) #B106P-B Adjustable Aluminum Wall Mount Plate | 
(4 Ea.) #HB539 #10 x .75" stainless steel tek screws | (2 Ea.) #HB519 #10 x .625" Tek Screws 18-8

Use for oblique angle intersections.

Flat Mount Bracket B 105R 2 96 bags .14 lbs

Bags packaged with: (2 Ea.) #B105R-B Flat Mount Bracket | (2 Ea.) #HB524 #14 x .75" tek screws | #HB511 .25" x 1.5" stainless steel  
carriage bolts | (2 Ea.) #HB541 .25"-20 flange nuts 18-8

Use to attach fence panels to walls, wood posts, etc.

MONTAGE ® | BRACKETS
AVAILABLE IN BAG QUANTITIES ONLY

 = COLOR OPTIONS AVAILABLE  |  B = Black    

MONTAGE
®

  |  RESIDENTIAL ORNAMENTAL STEEL FENCE
MONTAGE  II ®  |  MONTAGE  INDUSTRIAL ®  |  MONTAGE  COMMERCIAL ®  |  MONTAGE  PLUS ®  |  MONTAGE ®

2.8 

Effective: 07/16/2024

|  TO PLACE YOUR ORDER CALL 888-333-3422  |  VISIT AMERISTARPERIMETER.COM

konnorg
Rectangle

konnorg
Rectangle



MONTAGE ® | FINIALS & ADORNMENTS
FINIALS & PICKET PLUGS FOR GENESIS PANELS ONLY 

MONTAGE PANEL ADORNMENTS

	» Fit in between / on the face of top rails on 3-rail panels

	» #10 self-drilling screws included

	» 11 adornments required per panel

	»Die cast aluminum / Corona pressed steel*

 = COLOR OPTIONS AVAILABLE  |  B = Black    

.590" PRESS FIT PICKET FINIALS

	» 21 finals required per panel with 4" air-space

	» 26 finals required per panel with a 3" air-space

*Picket plugs in bag quantities only / 21 plugs per bag

 = COLOR OPTIONS AVAILABLE  |  B = Black    

NOTE: Picket plugs are available in bag quantities only /  
21 plugs per bag: Item number = AB502

QUAD FLARE
.590" / .2 lbs
A 301R1

TRIAD
.590" /.2 lbs
A 302R1

ROYALTY
.590" / .2 lbs
A 303R1

BUTTERFLY SCROLL
.590" / .2 lbs 
H 058NR1

CORONA
.590" / .35 lbs 

 A 103*

DOUBLE RINGS
.590" / .7 lbs 

A 102

SERPENTINE SCROLL
.590" / .75 lbs 

H 059

DESCRIPTION ITEM NUMBER / BLACK BAG QTY

#14 x .75" Tek Screw H524P-50 50

Steel hex head self-drilling screws for attaching Montage brackets & adornments

#10 x .625" Phillips Head Tek Screw H519P 1

Steel flat head screws for setting angle on Montage swivel brackets

.25" Flange Nuts H541P-20 20

Steel flange nuts for attaching Montage brackets

#10 x .75" Tek Screw H539P-50 50

Steel hex head self-drilling screws for attaching Montage brackets & adornments

.25" x 1.5" Carriage Bolt H511P-20 20

Steel carriage bolts for Montage brackets

MONTAGE ® | FASTENERS
AVAILABLE IN BAG QUANTITIES ONLY (Phillips head screws sold individually)

 = COLOR OPTIONS AVAILABLE  |  B = Black   

MONTAGE
®

  |  RESIDENTIAL ORNAMENTAL STEEL FENCE
MONTAGE ®  |  MONTAGE  PLUS ®  |  MONTAGE  COMMERCIAL ®  |  MONTAGE  INDUSTRIAL ®  |  MONTAGE  II ®   

2.9 

Effective: 07/16/2024

TO PLACE YOUR ORDER CALL 888-333-3422  |  VISIT AMERISTARPERIMETER.COM  |

konnorg
Rectangle

konnorg
Rectangle




	House Photos
	landscape plan
	Fence Photos
	AMERISTAR FENCE SUBMITTAL
	Vicinity Plan

